

RISOLVI SVOLGENDO LE OPERAZIONI EVIDENZIATE IN OGNI PASSAGGIO

$$(5+6)-2+4+1-3+(4+2)-1+(3-2)+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots-2+4+1-3+\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots+4+1-3+\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots+1-3+\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots-3+\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots+\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots-1+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots+\dots\dots\dots+6=$$

↓
SCRIVI QUI SOTTO IL RISULTATO

$$\dots\dots\dots+6=$$

SOLUZIONE :